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puzzle2 puzzle3
Which number completes this Which number is missing ?
sequence ?
5 4 7 6
3 2
) B 7 2 7 3 8
5 D! F 3 8 6 4 8
3|3 4 30 |7 4
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Which number completes the sequence ?

45 20 15 35 40 20
30 15 20 20 25 10
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Answer to brain teasers

puzzle 1: 5:34
Add the time of the 1st and 2nd to get the time on the 3rd. Add 2nd

and 3rd to get the time of the 4th watch, and so on.

puzzle2: 4
Each part in the circle adds up to 12.

puzzle 3 : 2
The digits of the bottom numbers together in each square are half

that of the top digits together.

puzzle 4 : 25
The difference between the sum of the top numbers and the sum of

the bottom numbers in each square.
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